2.9 Guided Practice — Geometric Proofs r- 1
If A, B, C, and D are collincar, as shown in the figure, A, B € , D
with AC = BD, then AB = CD. Complete the proof by i o _'l L
writing the missing statements or reasons.
.h’em AC=BD
Prove: AB=CD
(" Statements Reasons R
1. ﬁ.c; BD 1. Given

2. AC= A8+ BC BD = 8C + €D
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Fill In the blanks to complete the two-column proof.

. Given: ZHKJ is a straight angle.v”

Ki bisects ZHKJ.
Prove: ZIKJis a right angle.

Proof:
Statements Reasons
1.2 LHE) (S o Stvaigint 4 [1.Given
2. mZHKJ = 180° 2.b. _Def. of Stmagnit £

3.c_KI biSect VA Heel

3. Given

4. ZIKJ = LIKH

4. Def. of £ bisector

5. msIKJ = mzIKH _ 5. Def. of EF

6.0 L1 R+l (HET 6. 2 Add. Post.

7. 2m£IKJ = 180° 7. 0. Subst. (Rigeq arn)
8.Div. Prop.of =

. mLIKJS = 90°
9. £IKJis aright angle.
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2.9 Guided Practice — Geometric Proofs
Write a justification for each step. E

Given: A8 = EF, B is the midpoint of AC,
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1f two parallel lines are cut by a transversal, then the t
pairs of corresponding angles have the same measure. 2 N p

: = >
Given: pli g
Prove: m<Z1 = m45 $ >
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Complete the proof by writing the missing reasons.
[ Statements : Reasons k .
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l PROOF \ Common Segments Theorem

If A, B, C, and D are collincar, as shown in the figure, with AB = CD, then AC = BD.

-

Given: AB=CD A B “ c . D
Prove: AC=BD ' i

A Complete the two-column proof.

-
Statements Reasons

— |1 A8=0CD L Qive .
2. 8C= 8¢ i ML’-}{H!Q mg ' | B
C (gl 5c - ac 2] > #ddition P E

4. AB + BC = AC BC + €D = BD. 4 S‘-s_ﬂgu m;j—-. .
Fove—" |+ susyteron prep.




